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Instructions to th?*e&hdidm&

) o Mﬁ:ﬂv and Q 'No.6 are compulsory

2) Sa; ve am, §’ ‘questions from the remaining question nos. 2, 3, 4 and 5.

3)  Figures-to the right indicate full marks, 3

Q1) 2) Fillin the Blanks (Any five) : . L [5]
i) Store of value is a : ~ function of money.
(primary, secondary, coﬁ&mvcnt other)

ii) has conm}! over the money supply in the country.

(Commercial Banks,,

Cegtral Bank, Foreign Bank, State Bank of
India) e

3t

e .
iil) In times of inflations the central bank adopts a policy of

(Dare Money Pthy, Cheap Money Policy, Income, International
Trade)

iv)  The nature of the trade cycle is

(Regional, International, Domestic, State Level) -
V) is direct tax. \
(GST, Sales tax, Income tax, Cus‘tqr;):auty }

vi) The most important source &f income of a government is

(Foreign Loans, Taxes, Printing of New Currency. Sale of govt.
property) b
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b) Match the following pairs :
Group 'A’
1) Open Market Operation

ii) Cash Balance ‘Approach
1) Fiscal Measures

iv) G.S.'fj~~

V) Flu‘c(uations in

2conomic activity

a)

b)

d)

e)

02) Explain the Quantity Theory of Money.

Group 'B’

Demand and" Supply of
Money

Public Expenditure
Indirect Tax

Trade cycle

Quantitative Credit Control

Method

[15]

03) Explain the effects of inflation on Proa‘iuétion»& Distribution. [15]

04) What are the major monetary nlagsiires te.control Business Cycle?  [15]

05) What is Public Expendituze? State the causes of increasing Public

Expenditure.

06) Write Short:-Notes on (Any. three) :

[15]

[15]

a). Limitations of Credit Creation of Commercial Banks ™

b) 'Demand - Pull Inflation
¢) Bank Rate
d) Functions of Money

e) Deficit Budget
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